Assignment
Draw a graph for each inequality.
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Answers to Assignment (ID: 1)
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ID: 2

Name

Assignment Date Period
Draw a graph for each inequality.
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Answers to Assignment (ID: 2)
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ID: 3

Name

Assignment Date Period
Draw a graph for each inequality.
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Answers to Assignment (ID: 3)
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ID: 4

Name

Assignment Date Period
Draw a graph for each inequality.
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Answers to Assignment (ID: 4)
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Assignment

Draw a graph for each inequality.
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21) x<-2.4 22) n<-2.6
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Answers to Assignment (ID: 5)
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Assignment

Draw a graph for each inequality.
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Answers to Assignment (ID: 6)
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Assignment

Draw a graph for each inequality.
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Answers to Assignment (ID: 7)
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Assignment
Draw a graph for each inequality.
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Answers to Assignment (ID: 8)
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13) i ——————> 14) <+ — .—l—l—l—l-)-
-4 3 -2 - 4 -4 -3 -2 —1 0 1 2 3 4
15) é——+————- @uimmmjmmiuls 16) Gmimj——j—j——+———>
-4 3 -2 - 0 1 2 3 4 3 -2 1 0 1 2 3 4
e T e L B s e
17) -4 3 -2 - 0 1 2 3 4 18) -4 3 -2 -1 0 1 2 3 4
<: ; M N . N N . (l_'_'_"(:- b i b
19 -4 3 —’ -1 0 1 2 3 4 ’ 20) -4 3 -2 -1 0 1 2 3 4 ’
21) 4Oy 22) €—t———Olpjidy
-3 -2 —.1 0 1 ,2\ ? 4\ . —4 —’3\ -2 -1 (.) 4\
D S I T T T

s mabh-worksheeh.ory
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Assignment
Draw a graph for each inequality.

1) m>-2.7

&—1
< T T T T T T T T
-4 -3 -2 -1 0 1 2 3 4

A\ 4

3) -0.1>r
(_4 Attt 4)
5) 1.8>x
(74 At 4)
7) b<1.35

T T T T T T T T
—4 -3 -2 -1 0 1 2 3 4

9) 0.91>a
S
11) 1.5<p
NI S S T
13) x< 1.7
NI T S T
15) —2<m

17) 0.7<p

&—1
< T T T T T T T T
-4 -3 -2 -1 0 1 2 3 4

A\ 4

19) 0.8 >k

&—1
< T T T T T T T T
-4 -3 -2 -1 0 1 2 3 4

\ 4

"

=) gesvs path-worksheeb.ory

ID: 9

Period

Name
Date

2) -1.5>r
DRSS 2
4) -03>x
! —:3 ) —:1 (:) 7
6) -3<v
N j3 -2 j1 (:) 7
8) —0.622 <k
A j3 -2 j1 (:) 7
10) r<-1
\—4 —:3 -2 —:1 (:) 7
12) 0.3 <X
\—4 —:3 -2 —:1 (:) 7
14) n<2.9
DR S R ?
16) —-1.8<n
A —:3 -2 —:1 é 7
18) k<-0.6
AR R 2
20) 2>x
DRSS 2
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21) n>-1.6 22) x>-2.8

pa N 4 N
< e < 7
-4 3 2 -1 0 1 2 3 4 -4 3 2 -1 0 1 2 3 4

23) -1.4>x 24) a>—-0.2
&1 N &l N
ST T T T T T T T T 7 ST T T T T T T T T 7
-4 -3 -2 -1 0 1 2 3 4 -4 -3 -2 -1 0 1 2 3 4
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Answers to Assignment (ID: 9)

1) €4—O= : =
—_4 —_3 —_2 -1 0 } ‘.‘\
D
5) €= : e —————>
-4 3 -2 - 0 1 2 3 4
1 : R
7)‘—4 3 -2 -1 0 1 2 3 4\
9) 4—t—t—t—t————1>

s mabh-weorksheeb-org

e >
2) —.4—.3 —_2 —-l 0 1 2 3 4\
4) €t ———1—>
O e
O}

8) -4 -3 -2 -1 0 1 2 3 4’\
10) €=—t=0— >
12) ¢ Ol

3 -2 1 0 1 2 3 4
L A
18) -4 3 -2 -1 0 1 2 3 4
20) i ——————>
-4 3 -2 -1 0 1 2 3 4
2) o
M) S
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Assignment

Draw a graph for each inequality.

1) 24>x
& 1 AN
N T d
—4 -3 -2 -1 0 1 2 3 4
3) p=1.2
& 1 AN
N T d
-4 -3 -2 -1 0 1 2 3 4
5 a>-1.1
ya 1 N
N W d
—4 -3 -2 -1 0 1 2 3 4
7) 0.2<n
& 1 AN
N T d
—4 -3 -2 -1 0 1 2 3 4
9) 0.3<a
& 1 AN
N T d
—4 -3 -2 -1 0 1 2 3 4
11) x<2.8
& 1 AN
N T d
—4 -3 -2 -1 0 1 2 3 4
13) a < —0.848
&—1 AN
S T T T T T T T 7
—4 -3 -2 -1 0 1 2 3 4
15) x> —-1.71
&—1 AN
S T T T T T T T 7
-4 -3 -2 -1 0 1 2 3 4
17) —1.26 > x
& 1 AN
N T d
—4 -3 -2 -1 0 1 2 3 4
19) -1.5>r
&—1 AN
S T T T T T T T 7
—4 -3 -2 -1 0 1 2 3 4

=

N gegsgs palh-veorlsheeh.ory

ID: 10

Date

Period

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

Name

2) k>1
A —:3 -2
4) 24>v
\—:4 3 =2
6) x>-2.3
&

4 3 22
8) 1.6<v
\it 3 =2
10) 29<v
\it 3 =2
12) n<—0.82
\-:4 B T
14) 2.112 > X
AR
16) v<2.1
S
18) b<-2.8
A —:3 -2
20) —1.4>x
ARV

A\ 4
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21) -0.1>n 22) x> 1.1

&l N &l N
ST T T T T T T T T 7 ST T T T T T T T T 7
-4 3 2 -1 0 1 2 3 4 -4 3 2 -1 0 1 2 3 4
23) 1.2>n 24) 2.5>D
yi N pa N
< 7 < 7
-4 -3 -2 -1 0 1 2 3 4 -4 -3 -2 -1 0 1 2 3 4
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Answers to Assignment (ID: 10)

APMPAMPS L 1 T 1 111
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’ ’ e <t -t f e wt -t -t
L

3
1
-3
L L
L) L)
4 3
4 3
4 3
4 3
4 3
4 3
4 3
4 3

N AN N N

»

1
1
1
1
i
1
L\
i
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